SBMEI FRafhRRERERE (5B—uh)

¥ 5% FLE 201443 H22H
1 IEERE VS 7 Bkigrhig
H= EES
HERE g g TERE
1t : FhHELT K . 22[H | )2 R Rpfe
- 35 7 - bk 7 - R

mix | B [mon| w0 | em | miee |moa| me | sR | s T | T

1 |wxl & | sH | = | 140 & | a0 | 1 | s0 5

2 |mdb| 4t | 3NT | +3 | 690 & | 3NT | +3 | 690

3 || & | aNT | = | 400 | & | aNnT | = | 400

4 |wal 4t | 1c | 2 | 20| & | 2px | 2 | 500 | 7

5 | &Edbl it 4S +2 680 1t 4S = 620 2

6 || = | 2s | 2 | 200 4t | 4ac | = | 130 | 2

7 |wal @ | a0 | +1 | es0o |l & | ec | 3 | 300 | 14

8 |wxk| 4t | 25 | +1 | 140 | % | 3Hx | -3 | 500 8

o |zE| 4t | aNT | 4 | 200| 4t | 3nT | -2 | -100 3

10 |wa| 46 | aNnT | +1 | 630 | 4t | 3NT | = | 600 | 1

11 |wx|l & | 30v | 3| -150] & | 2 | -2 | s0 5

12 ||l ® | a0 | 2| s0 | & | aHx | -1 | 100 7)

DATUM% it L
Lo Sk EighiE v, X+ 26 | 23
LT /IIBRX, 22 XET/ R 15 ait 26 | 23
RpE/RIESE 15 2H/E% 22 V.P. 11.05 | 8.95




SBMEI FafhRRERERE (5B—uh)

%55 2 20144:3H22H
2 I PHEERH VS 8 I MHLTHR
H= A=
FpAERY FNETHE TS FpAERY
it - 31 5H RS G it : BEE 7R - XN
A U 7 - Bl B B 7 - DR
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo x 4H = -420 x 4H -1 50 10
2 |®dtl 4t | 3NT | +3 | 690 & | 3NT | +3 | 690
3 panyiic] [£3] 3NT +1 430 [£3] 3NT = 400 1
4 =] [£3] 2Cx -2 -500 [£3] 2Dx -2 -500
5 2] [£3] 58S -1 -100 1t 58S -1 -100
6 panyiic] 1t 2S = 110 1t 4C = 130 1
7 =] [£3] 4H -200 [£3] 4H = 620 13
8 NTo Jri] 2D -3 150 1t INT +1 120 1
9 panyiic] 1t 2C +2 130 1t INT = 90 1
10 | N8B 1t 3NT +1 630 1t 3NT +2 660 1
11 | N Jri] 2H = -110 Jri] 2H = -110
12 | @it x 4H -1 50 [£3] 3Sx -1 -200 6
DATUM% it iFEE
I et I METHR r. 3] 9 25
oS BR/XUFA -20 BERZ2 BB /1B Rk 1 Aait 9 25
Xll/\a/SEE Y -1 BNXHE/SERW 20 V.P. 53 | 14.7




SR FEFMERSEEE (F5—ih)
5% % 3R 201443 H22H
3 F =S VS 6 SEMER
= H=
R BMER BMER R
it : tAEF= IR B it : BhER R BRBE
X 74 : FPLTR B . FEaE 79 FEf
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 | WEl & 3H | +1 | -170 | % 3H = | -140 1
2 |®dtl B | 3NT | +3 | 690 | 4t | 3NT | +3 | 690
3 |&AE| m | 3NT | = | 400 | 4t | 3NT | = | 400
4 w8l &= | aNT | = | 600 ]| dt |aINTX| -3 | -800 | 5
5 |mEib| dt 5S -1 | -100 | 4t 5S -1 | -100
6 |&mAm| 4 | 5Cx | -2 | -300| A | 2Hx | -1 | 200 11
7 |WB| B 5C = | 600 | m 4H -1 | -100 | 12
8 |Wx|l @ | ANT | -3 | 150 | A | INTx| -3 | 500 8
9 |&ZAE| it 2C | +1 | 120 | B | 3NT | = | 400 7
10 |XE| 46 | 3NT | = 600 & | 3NT | = 600
11 | x| 7 2H -1 50 jt | 4cx | 2 | -300 | 8
12 | el & 3H = | -140 | m= 2S = | 110 6
DATUM%iit 5 E
R e EME=R 7, 5 -] 25 | 33
TAE=/XIR 12 PnR/FAEE -6 ait 25 | 33
BB/ EE 6 BE/DRe /HheT i 12 V.P. 7.39 | 12.61




SBMEI FRafhRRERERE (5B—uh)

% 5% a4 201443 H22H
4 EBTH VS 9 RILIES
A= =
[E2N=TIPA hUES hUES [E2N=TIPA
1t : FREEH R:R2ZE it : sKEZE IR LERE
B : htehg i Y NI S M : IfIE 7Y : SKFRFF
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 |wxel & | an | = | 420 & | a1 | = | 420
2 |@dt] 4 | 3NT | +3 | 690 | 4t | 3NT | +3 | 690
3 | KAl E 3NT | +1 430 [£3] 3NT | +1 430
4 |wal 4 |iNTx| -1 | 200 4 |anTx| 2 | 500 | 7
5 |mdt] 4t | 4s | +2 | eso| & | ecx | 2 | 300 | o
6 |zm| &t | ac | 2| 0 | ® | 30D | -3 | 300 8
7 |lwmal 8 | a0 | = | 620 B | 40 | = | 620
g8 |wx| 46 | 2s | 2| w0 | 4t | anT | = | 90 4
o |mm|l & | 31 | = | 140 & | onT | -2 | -200
10|ws| | 2p |+2| 30| m | 2p | = | 90 1
11 |wxel & | 20 | 1| so | & | 3b | = | 10| 4
12 @] & | 4Hx | -2 | 00| & | 2H | = | ‘10| s
DATUM%iit 5 E
SRR IVA) RUES v, X+ ] 26 | 13
BRAtE L/ BB e -1 SKEZE/AfEE -11 ait 26 | 13
AR/ KFBAF 11 A NN NS 1 V.P. 13.97 | 6.03




SR FEFMEREEEE (F5—ih)
5% %5 5 201443 H22H
5 BRX{"1b VS 10 '&=Fa
= H=
e~ I 5RFa I 5RFa BRI
it : FEME K : JLORER it : B R REX
M IREX 7 ;K= B R 7q: mloH
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 | WEl & 4H -1 50 E3 3s -1 | -50 3
2 |mb| 4t | 3NT | +3 | 690 B | 3NT | +3 | 690
3 |&AE| m | 3NT | = | 400 | B | 3NT | +1 | 430 1
4 |wa| 4t | INTX| -2 | -500 | dt | ANTx| -2 | -500
5 |mEib| dt 5S -1 | -100 | & 4s | +2 | 680 13
6 |&A| dt 3C | +1 | 130 it 4C -1 -50 5
7 |WB| B 6C = | 1370 | = 4H = | 620 | 13
8 | Wkl H® 2H -2 | 100 | 4t | INT | = 90
9 |&HA| dt 3C = 110 | 4t 3C = 110
10 | W&l 4t | aNT | +12 | 630 | 4t | 3BNT | = | 600 1
11 | x| 7 2H -1 50 s 5D = | -400 | 10
12 | Ede| 78 2C = -90 A | 2NT | +1 | ;150 ) 2
DATUM%iit 5 E
BRR(Zb I"'&Fa v -] 34 | 14
B/ RS 17 H&e/hDLT 5 ait 34 | 14
R /ml -5 YCIREN/aKI = 17 V.P. 15.58 | 4.42




